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ENGLISH VERSION

Instructions :

(1) Write the answer of Q.-1 MCQ in answer sheet.
2) Q.-1 MCQ of 20 marks.

B3) Q.-2 to Q.-6, each having 10 marks.

20

1 Write the correct answer from given answers :
(1) Standard error of correlation coefficient (r) is =
2 2
1-r 1-r
@ L0 ®)
n n
© l—r2 O) l+r2
7 n
(2) The value of correlation coefficient (r) is lies between
to
(3) The value of correlation coefficient is independent of
change of and change of
(A) Origin, Scale
(B) Relative, Absolute
(C) Symmetric, Skewsymmetric
(D) Finite, Infinite
(4) If the value of covariance between two variable x and
y is zero then correlation coefficient (r) =
A 0 B) -1
€ 1 ®) 0.5
(5) If there is a perfect correlation between two variable x
and y and b,, = 0.4 then by, =
A) 0.25 B) 0.025
€ 25 D) 25
(6) For two regression coefficient, if value of one regression
coefficient is less than 1 then the value of other
regression coefficient is
(A 05 (B) less than 1
(C) greater than 1 (D) zero
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@) mean of two regression coefficient is more of
equal to correlation coefficient.

(A) Geometric (B) Arithmatic
(C) Harmonic (D) Combined

(8 The intersecting point of two regression lines gives

A xy ®)
© —xy D)

=1
< |

Y

SR

(9) The sum of probabilities of success and failure of an
event is always

(A) zero (B) negative
(C) infinite (D) ome

(10) If events A and B are mutually exclusive events than
P(AUB) =
(A)  P(A)+P(B)-P(AnB) B) P(4)-P(B)
(C) P(A)-P(B)+P(A~B) D) P(4A)+P(B)

(11) Set of all possible outcomes of random experiment is
called

(A) Sample space
(B) Probability

(C) Mutually exclusive events
(D) Null set

(12) After happening of event A, than only event B is
occurring than P(AnB) =
(A)  P(A)-P(B/A) B) P(4)-P(B)
(C) P(B)-P(A/B) D) P(A+P(B)

(13) If x and y are two independent discrete random variables
than Var (x — y) =

A Var(x)-Var(y) B Var(x)+Var(y)-2 Cov(x,y)
©) Var(x)+Var(y) O Var(x)-Var(y)+2 Cov(x,y)

(14) If g(x)? =4, E(x)=1 then Var(x) =

@A 5 ®B) 4

© 3 O -3
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(15) of Binomial distribution shows the average
number of successes.

(A) Mean (B) Variance
(C) S.D. (D) Median

(16) Binomial distribution is of variables distribution.
(A) Dascrete (B) Continuous
(C) Relative (D) Infinite

(17) For a Binomial distribution mean variance.
A < B) <
© = O >

(18) For normal distribution if p = 0 and o=1 then
distribution is called normal distribution.
(A) Skew symmetric (B) Relative
(C) Independent (D) Standard

(19) are the parameter of normal distribution.
(A) n and p B) n, p and g
(C) pand o D) = and e

(20) For a normal distribution if Q; =30 and ¢;=50 than
mean (u) = )
A 40 B) 20
©) 10 D) 80

2 (@) Discuss the types of correlation by method of scatter 5

diagram.

(b) Following is the data of ten students : 5

Tx=640 Ty=560  Xx*=50780

¥ 32 232010 T xy =36120
Find correlation coefficient.
OR
2  For eight pairs of x and y following data is available. Using 10
this data find correlation coefficient.
Y(x—12)(y—15)=80, X(x+12)% =400

>(y-15)% =80, x=13.5 y=16.5

3 (a) Write the properties of regression coefficients. 5

(b) Regression coefficient of x any is four times than regression 5
coefficient of y on x. If correlation coefficient between x
and y is —0.8 than find both the regression coefficients.

OR
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3  For the given data obtain both the regression lines. Find y 10
when x = 11 :

x|6]12 (104
ylol11] 58
P(ANB)
4 (a) Prove that P(B/A) = W
®) If P(A) = 0.80, P(B) = 0.30, P(A'UB") = 0.85 then
find P(A4UB), P(A'~B") and P(A/B).
OR
4 (@ From a pack of 52 cards, two cards are drawn randomly
and thoran away. Then one card is selected at random.
Find the probability that card is of king.

(b) In a box there are two white balls and three black balls.
Adwait, Yash, Om and Khushi selects a ball one after the
other and ball is not replaced. A person gets price if he
get white ball. Find the probability of each individual.

5 (@) Write the properties of mathematical expectation.
(b) Following the probability distribution of discrete random
variable x. Find P, mean, variance and E(x2+5) :
X 0 1 2 3 4
P(x) |1/16 | P |6/16 [P |1/16
OR
5 (a) Write properties and uses of Binomial distribution.

(b) For a Binomial distribution mean is 3 and variance is 2.
Find P(3 < x < 6).

6 (@) Write the properties of normal distribution.

(b) For a normal variable mode is 54 variance is 1.5 times
than mode. Obtain distribution function of normal
distribution.

OR
6 (a) For anormal distribution the sum and difference of third
quartile and first quartile are respectively 100 and 36.
Find the parameters of normal distribution. Also find the
interval of 50% values.
(b) The average marks of students in a class follows normal

distribution with mean 79 and S.D. of marks is 5. If in
a class no of students is 124 than find the no of students
did not get the marks between 75 and 82.
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